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Com. (Gen.) & B.Com. (CA) (Three Year) DEGREE EXAMINATION, w
MARCH/APRIL 2023.

, End Semester Examination

First Sem_ester (

FUNDAMENTALS OF ACCOUNTING )

N
Max. Marks : 70

Time : 8 Hours

PART — A

Answer any FIVE‘of_ the following._‘ (5 x 4 = 20 Marks)

1. Objectives of Accounting.
| IT;0830R esdTsen.

2. Analytical Petty Cash Book.
TRBeTE DO DI Hi9¥o.

3. Suspense Account.

IR QIoB°.

4. Debit Note and Credit Note.
G065 S5, @A S

5. Need for Bank Reconciliation Statements.
| a0 Dege BRoRgAD 543 eSS, |

6. Revenue Expenses.

el HENE.

7. - F éatures of Trial Balance.
e905ET® OFETRD.

ation - Give three examples.

8. Accounting Equ
' ST SEae) J0TGOENY.

e@°0t30Nn %8)H¥Eea0 -

Turn Ove
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PART — B 0=>50 Marks)

1
ons- Che

Answer the following questi .
ginal entry? Give the

. Tl
(@  What is Journal? Why is it known as book of ©

advantages of Journalising. E’gé_’)f&iﬁ"éad

00
D BHTRA? T & 5¢5 Ho¥o e JotoEoerdd? D5

Or

(b)  Journalise the following transactions.
2023
Jan. 1 Commenced business with capital of Z 25,000

2 Deposited 15,000 in Union Bank of India -
5 Bought goods for ¥ 8,000
6 Bought goods from Murali ¥ 9,500

10 Sold goods to Kiran ¥ 15,000

12 Returned goods to Murali ¥ 1,500

15 Paid Murali ¥ 5,500

20 Bought furniture Z 3,000

21 Paid Rent % 2,500

23 Received from Kiran % 14,000

808 S555FTretd Dex 5800 @Ero3008.
(o)

2023
25958 1 507 ¥ 25,000 © 0770¢K08” FE0P0oDReRE.

9 0HIPR0D a?;oé)é’s &5299,;3 3258 T 15,000
5 ‘é&éagéo Z 8,000 0% §°a%.
6 S50 5000 §) B0 T 9,500

10 8555 ey SH%es X 15,000

19 50608 TS50 BB BHHes T 1,500

$20608 90238 T 5,500
oo DaR HBS T 3,000
Z‘)e2012):6 @Q Z 2,500

2665 006 DA R 14,000

15
20
21
23

2 : . N )
’ - 20C1201
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10. a i R
(a) Enter the following transactions in subsidiary books:

2023
Jan. 4 Purchased goods from sthofe for ¥ 10,000
(Trade discount 5%) _ '

5 Sold goods to Kumar ¥ 20,000 (Trade discount 8%)
10 Bought furniture from furniture & Co. for Z 5,000
11 Bought goods from Dilip for ¥ 8,000
12 Sold goods to Naresh for Z6,000
15 Returned goods to Kishore Z 2,500

\16 Retgrned goods by Kumar' Z 3,500
20 Bought goods from Dilip for 2 6,500

22 Returned,goolds to Dilip ¥ 2,000
25 Nareéh returned goods fof ‘i 1,500

| BoB Bgsrrey B0 deped® KA Babod.
2023, . -,
25558 4 8265 B008 §%y DHEes T 10,000 (HYE GR7;08 5%)

| %55 a3 S0 T 20,000 (H8E B0 8%)

Jo Byt & §° 008 5 98yt T 5,000

1] 885 sod 5% S0 T8,000
1o SB5E eayd $E%en T 6,000 |
15 82665 TS B Be0 T 2,500

lg KosorBH T 294 S50 T 3,500

g0 B85 2008 EY JHe R 6,500

BO5E TS0 BIH Do T 2,000

[\)
[N}

SBEE T B BBen T 1,500

[ Q]
N
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(b). Entgr the following transaction in a Three column cash book.
2023 |
Jan. 1 Cash in hang % 410 Balance at bank ¥ 8,920
2 Cash sales 2 4,500
3 Paid into bank ¥ 4,000
5 Purchased stationery ¥ 100
8 Paid Mahesh by cheque ¥ 280 and discount received ¥ 20

12 Gave a cheque for purchases ¥ 1,500

15 Drew for personal use ¥ 500 .
18 Received from Suresh, a cheque for Z 1970 in full settlement of
account of ¥ 2 000

20 Drew from Bank ¥ 1,000

21 Paid wages ¥ 100 _ ,
22 Paid N arayana by cheque Z 5,000 and discount received ¥ 100

23 Suresh cheque dishonoured and bank returned

25 Bank charges as per pass book % 10 )
808 JFHT 0B $a3°¢ HHBe HKE> HEoS® 5376 BaDod.

2023 |
2998 1 BOS® I T 410 50806 Deg T 8,920

2 e eBysTen T 4,500
3 zr?sos’oe?s ;Siim ¥ 4,000
5 Q98 §Rufen T 100
8 Dy, mro SIS0 3008 T 280 SOy Ed,00m T 20
19 3, oo S 0R’ey T 1,500
15 &roeeRs 8556 2 500
$yB85. 2008 T 2,000 28 JB 58, 8or Hayd DE; T 1970

25080 2508 Hd8 T.1,000

91 Do D0 X 100
S aoEsth By, IO DoDIB T 5,000 ; S3Yd Gam;060 T 100

SOBD B, DL, VT EEEs GOV 25080 806 THPREG

25 R HLO [55°80 ey pdnev X 10
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11.

(a)

(b)

Pass Journal entries to rectify the errors.

F - '
rom the following ledger balances prepare Trial Balance of Mr. Prasad.

Z
Purchases 21,750
Wages 6,500
Sales - 35,000
Commission allowed ,.425
Office expenses 105
Interest 250
Furniture 200
Capital 13,000
Cash in hand 9,045

808 et vege od Mr. (Hard eoferio 558 Ddohode.

s
SOVACH 21,750
DBT 6,500 -
SEWSON 35,000
29y 52085 425
sHD B 105
3G 250
beJe]nled 200
BT ER0 - 13,000
DES® DKL 9,045
Or

. Z
Discount allowed 1,300
Salaries 2,000
Travelling expenses 400
Carriage 275
Trade expenses 600
Building 5,000
Debtors 4,250
Creditors 2,100
Bank overdraft 2,000
g
39YS GRr,080 1,300
oo 2 000
|505TPEs PENOO 400
S 275
288 AN 600
APV - 5,000
200830 4,250
2000£TPH 0 2,100
250 E5B1ERY) 2,000

A trader failed to tally his trial balance and

suspense account. Later the following mistakes were noticed.

@)
(i1)

(ii1)

(iv)

(W)

(vi)

difference is transferred to-

General expensyes F 54 were posted to general ledger as T 240.

A bill receivable from Purnima for ¥ 465 was passed th’rbugh Bills

payable book.

Legal expenses I 357 paid to Bhanu were debited to his personal

account.

Cash received from Rama % 450 was debited to Ramana’s account.

‘Sales book was overcast by X 300.

T 15.

A sale of % 150 to Laxman was wrongly debited to Laxmi’s account as

@ Scanned with OKEN Scanner



(@

(b)

W)

@)

28 TERD 85 @oker Sarn By Sonbotd @ BERy STEOB e
GODTE. HHT 808 Bijyper ERT-

@) el e T b4 dogrses ndpd® € 240 e 52006,

(i) Qo Bood Skoeen Bey T 465 BYoR) DO HIEoS® BT 02008

(i) - RO 3900 ANS Pinyen T 357 & drod B G265 DO

(v) 070 R00G HOYS BKS T 450 Sven B BDE DITD- |

(V) ©d5° HREo T 300 KD LGRS

(Vi) X% oy T 150 0§y grers” T 15 1 dJp G015 ©00008.

BPO DS Dege SEQOR) Frosod. |

Explain the reasons for showmg d1fference in the balances of cash book and
pass book.
DS HPEO DOGE), 0 HIFo DD :fm‘,’)ZSKeJ B Ko 9&5291@?63 :);68060&
N Or ,
From the following transactions prepare Bank Reconcﬂiation statement.

(1) Bank balance as per cash book Z7,210..
A cheque of ¥ 1, 500 was 1ssued but not encashed till the date of

(i) -
reconciliation.

(iii) A cheque of Z 1,200 was deposited into bank but it was dishonoured and
notice is not received before the date of reconciliation.

(iv) Cheque worth ¥ 20,000 were deposited into bank out of Wthh
Z 15,000 were collected by bank.
Bank interest ¥ 210'was credited by the bank and bank charges ¥ 100

was debited by the bank by these are not recorded in Cash Book.

208 25070 500G 2750 DegL JRNGAD 563D BSIEd DaHod.

() HKE HIFo (S50 a5 deg T 7,210. |

Z 1,5000 D), &8 Dosore S50g0h0 BAST 8 D90 B,

'as'goé)e’is Gare2e0 DN T 1,200 D), eriles @ondd. T8 H5020809%

S87ParE0 S0R5al BE BB SYHB.
ergoH&® Garedes DD T 20,000 © 2)5%0656 X 15,0000 d¥ye0 HoeEad

(i)

@iv)
a.'f"asoé) HEI°00 DODS.
argo) B DID ergoH 3G T 210 a5 BeeS s &50%) gpti)t)e)g Z 100

V) .
P ASES béoe"is :6?53"653 svéség

6 —
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13.

(a)

()

What are final accounts?

accounts? What are the objectives and advantages of final

20RoY) BE : , :
) L SOIMTDIR? HRo) B © &G, (SERTETOR) ®e0G.

Or

ended 31st Dec. 2022.

Z
Capital 1,00,000
Cash in hand © 1,200

‘Purchases . 1,20,000
Bills payable. 22,000

~ Stock on 1.1.2022 35,000
Debtors B 50,000

 Creditors f 24,000

‘Plant and Machinery 60,000

AdjustmentS'
1) Stock on 31. 12 2022 X 40, 000.

From
. the following details of Viswanath, prepare final accounts for the year

Z
Furniture 15,000
Sales 2,00,000
“Bills Receivable 20,000
Rent, rates 10,000
Wages _ 16,000
Reserve for bad debts 1,000
“Salaries 20,000

(i) Outstanding rent % 2,000 wages X 3, 000, salaries Z 4,000.

_(iii) Provide deprec1at1on on plant an

10%.

-~ (iv) Reserve for bad debts to be increased to 3%.

d machinery at ‘5% and furniture at’

s BooY); §oB IT© .‘-630& 31-12-2022 55 @oéméfbé Ddond éooﬂoog) Bébe)m

égﬁj“d) DaAHos. |

R ' o z
Soreido +1,00,000
3HS° bmﬁe | 1,200
§°0R W - 1,2(5,000
290 Deyed 22,000
1.1.2022 % S8 D3 35,000
20ea RO 50,000
B0EITTHE0 24,000
Zrot sSo0Ered 60,000

58580

e

Haren Deged

&R VLY .
@ ™

DT

o0 2r8e B

Beren

g
15,000 -

~2,00,000
20,000
| 10,000 )
16,000
1;000‘

20,000

Turn Over
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56{32&@&}3 :
() 31.12.2022 5 5%% Deg T 40,000.

() BP0 B @B T 2,000 Sswren T 3,000 Heren T 4,000
(iif)  Jroew dhoEreR 5% $ESE P 10% BB DXBHG.

iv) oD 280 D62 3% & 20B0G. |
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20C1201—A

B. -Com. (General & CA) (Three Year) DEGREE EXAMINATION
MARCH/APRIL 2023

First Semester
CourselA — FUNDAMENTALS OF ACCOUNTING
(w.e.f. 2022 — 23) '

\ | -

Time : 3 Hours Max. Marks : 75
SECTION — A (25 marks)

Answer ALL questions.

I. © Multiple choice questions: (10 x1=10)

1.  According to which of the following acceunting' principles, the owners of business
are considered as creditors? ' ‘
(a) Money Measurement
(b) Cost |
(¢) Dual AspectA

(d) Separate legal entity -

2." Drawing’s falls under which ecceunt
| (a) Personal a‘ccount.
(b) Real account
(0 Nominal account

(d None of these

3 Three column cash book

() Trade discount allowed is recorded on the debit side of cash book
() Cash discount received is recorded on the credit side of the cash boek
fc) Discount column are l3a1anced |
(d) - All the above

Turn Over
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Closing entries are recorded 1n

(a) Cash boc;k (b) Ledger

(¢c) Journal proper (d) Balance sheet

Trail balance is used to check the accuracy of

(é) Balance sheet balances
(b) Ledger accounts balances
(¢) “Cash flow s'tatement balances

(d) Income statement balances

Which one of the following is not a clerical error?

(a) Error of omission ~(b)  Error of principle

(c) Error of commission (d) Compensating error -

In cash book, the favourable balance indicates

(@) Credit balance | ()  Debit balance

‘ (¢) - Bank overdraft (d) Adjusted balance

- Who is preparing the Bank Reconciliation statement?

(a) " Debtor (b) Creditor
(¢) Account Holder (d) Bank
The goal of final accounts is to determine
" (a) C.apital
(b) - The value of assets '
(c) Proﬁt or loss
(d) Profit and loss and financial position , )

@ Scanned with OKEN Scanner



10.

- IL

11.

12.

13.

14.

15.

- II1L

16.

17.

18.

19.

20.

21.

Which is an example of fictitious assets?

(@) Buildings (b) Bill receivable

(c) Cash (d) Preliminary expenses

Answer ALL questions. (Fill in the blanks) (6x1= 5)

A Goodwill an Asset.

Recording business transactions in a set of books is knownas _____———

Withdrawal of cash or merchandise for personal use is called

What is contra entry

In cash book, the unfavourable balance indicates

Answer ALL questionsv. (Short answer questions) (5 x2=10)

Types of Accounts.

Three coiumn cash book.

Objectives of BSR.

Methods of Trail balance prepafatiop.

Capital expenditure vs Revenue expenditure.
SECTION — B (50 marks)

Answer ALL questions one question from each unit.

(a) Explain various accounting concepts and conventions in detail.

Or

Turn Over
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(b) Journalise the following transactions in the books of Prem Kumar

2019

June

1 Prem Kumar Commenced business with a capital of Rs. 2,00,000

5 Purchased plant and machinery for Rs. 50,000

8 Deposited Rs. 6,000 in syndicate book

10 " . Cash received from Mohan Rs. 980, Discount allowed for him
| Rs. 20

12 Bought Rs. 20,000 wérth of bonds from L & T Co. Litd.

15 Sold goods to Rama Rao Rs. 3,000

19 Brought additional capital into business Rs. 22,000

23 Cash withdrawn from bank for personal use Rs. 1,000

25 Rent received in advance Rs. 25,000

30 Salary and rent paid.by cheque Rs. 1,500

(a) What is petty cash book? Explain the method of preparing the analytical .
petty cashbook under imprest system. '

" Or

(b) Prepare proper subsidiary ‘books.

2017 |
May ‘ | o
1 Purchased goc;ds from Omkar Rs. 8,000 i
4 Sold goods to Mahesh Rs. 9,000 -
6 ‘Returned good to Omkar Rs. 600
8 ~ Giri bought goods from us Rs: 12,000 ‘
10 Goods returned from Mahesh Rs. 1,200
15 Furniture sold to Radha Rs. 22,000
18 Purchased goods from Pavan Rs. 10,000
(Trade discount 10%)
20 Goods sold to Ravi & Co for Rs. 12,500
22 Ravi & Co. returned goods Rs. 1,150
25 : Chequé issued to Omkar Rs. 2,000
30  Bought machinery by cheque Rs. 21,000

20C1201-A
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23. (a)

Explai " '
plain the various types of errors in detail.

Or
®) gif)(;g.2?188 following balances, prepare a trail balance statement as og
. Rs. Rs.
| Share capital 30,00,000 Wages 72,000
Personal withdrawls 200,000 Employee salaries  4,28,000
Goodwill 60,000 Return inwards 20,000
Purchases 3,20,000 Prepaid income tax 17,000
Sales 6,40,000 Rent outstanding 50,000
Advance for purchase of plant 60,000 Rent outwards 10,000
General reserve | ' 1,‘50,0'00 Debtors 90,000
_ Provision‘for doubtful debts 15,000 Creditors 1,30,000
' Buildings 127,28,000
24. (a) What is bank reconciliation statement? Explai_n/ the various reasons for
preparation of bank reconcﬂiation statement.
Or
(b) From the following transactions prepafe bank recqnci]iation statement.
(i) Overdraft balance as per/cash book Rs. 2,000. ‘
(i) Cheques issued for Rs. 35,000 out of which payment was made for only
on Rs. 28,000 cheques. '
(iii) Rs. 20,000 cheques sent for colléction among that Rs. 2,000 cheque was
not realised upto reconciliation data. :
. (1v) Bank charges Rs. 200 only recorded in pass book.
(v) Interest on Investment Rs. 350 collected by the bank, only entered in
cashbook. - ‘
- (vi) Pass book payments side was undercast by Rs. 300
(vii) Cash book receipts side was overcast by Rs. 100

[ W O R,
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25.

(a)

(b)

Or

List different types of adjusting entries.

The following balances taken from the ledgers of Kishore on 315t March, 2017
Prepare the trading and profit and loss account for the year ending 3]st

Particulars
Bad debts
Loan from Ram
Sundx_‘y debtors
Investments
Bad debts reserve
Rent and rates
Furniture
Stock (1.4.2016)
Capital L
Discount Allowed
Discount Received
Drawings

Bills payable

Amount
100
2,500
9,500
6,500
1,600 -
850
3,000
27,350
47,390
630
535
2,000
10,000

Write off further Rs. 300 as bad debts and create a provision for bad

March 2017 and the balance sheet on that date.
Particulars Amount

Sundry creditors 19,000
Buﬂdings 15,000 |
Income Tax 1,025
Loose Tools 1,000
Cash at bank 16,200
Sundry expenses 1,990 -
Bank interest (credit) 75
Purchases 1_‘,57,1000
Wages . 10,000
Carriage Inwards i, 120
Sales 1,85,000
Motor van 12;500
Cash in hand s 335

Adjustments:

(i)

debts at 20% on debtors.
(i1)
at Rs. 800.
(1)
(iv)

On 31.3.2017 stock was valued at Rs. 15,000 and loose tools were valued

Write off 5% for depreciation on buildings and 40% on motor van.

Provide for interest at 12% p.a. due on loan taken on 1.6.2016.

@ Scanned with OKEN Scanner



20C1402

o ‘ , ~
B.B.A. (Three Year) DEGREE EXAMINATION, MARCH/APRIL 2023.
| End Semester Examination
First Semester
MANAGERIAL ECONOMICS ‘
N _J
Time : 8 Hours | ' ~ Max. Marks : 70
PART — A

Answer. any FIVE of the following. (5 x 4 = 20 Marks)
1. Conce-pt of Managerial Economics. |
2.  Cross Elasticity of Demarid.
3.  Shift in supply curve.
4. Prodﬁctiori Function.
5. Diseconomics of Scale.
6.  Oligopoly.
7. Circulér Flow of Income. |
8. Perfect competitibn.

PART ;_B
Answer the following questions. (5 x 10 =50 Marks)

9. (a) Define ‘Managerial Economics’. Explain in detail about Nature and scope of

(b)

10. (a)

(b)

Managerial Economics.

Or

Explain the need for the study of Micro and Macro Economics in the present
day Economic Environment.

Elucidate about Theory of Demand with its exceptions.

Or

What is meant by Elasticity of Demand? Outline the factors which are
affecting elasticity of demand.

Turn O\?e r

@ Scanned with OKEN Scanner



11.

12,

13.

(a)

(b)
(a)

(b)
(a)

(b)

Describe in brief about Law of Diminishing Marginal Utility.
‘ Or
What are the various issues involved in Law of supply.
What do you understand by Law of Returns to scale? Explain with examples.
Or
Define ‘Monopoly’. Examine the characteristics of monopoly.

Define ‘National Income’. What methods are available to calculate National

Income?
Or
Explain the functioning of NITI AYOG.

@ Scanned with OKEN Scanner



20C1402A

-
B.B.A. DEGREE EXAMINATION, MARCH/APRIL 2023
First Semester
- MANAGERIAL ECONOMICS )

Tivme : 3 Hours

SECTION — A (25 Marks)
Answer ALL questions.

Max. Marks : 75

Fill in the blanks: (Bx1l= 5)

Division of Labour increases

Second Factor of ﬁroduction is

When price increases demand

Net _ product.

Expenditure decreases when production is _

@ Scanned with OKEN Scanner

Multiple choice questions. (10 x 1 =10)
Consumér is a king in : , ‘

- (a) Monopoly (b)  Perfect competition
(c) Oligopoly = (d) Government sector
Giffer’s paradox is an exemption to:
(a) Law of demand (b) Law of Marginal utility
) Economics.of scale (d) Large scale production

'G.N.P. stands for: |
(a) Ground Natural Policy (b)  Gross National Product
(c) Gross Natural Product (d)  Gross Nutrition Product
Competition plays & vital role in:
(a) ~Perfect competition (b) Monopolistic competition
(¢) Oligopoly (d) Large scale Industry
Turn Over



10. Factors of production are: ; .
(a) One . () Four

(c) Three (d) Two

) : 1 demand
11. Under perfect competition, price is determined by the interaction of tota

and
(a) Total supply (b) Total cost
(¢) Total utility 4 (d) Total production

12.  Distinction between private sector and public sector is determined on the basis of

(a) Economic system - (b) Motive

(¢) Principle of pricing (d) All of the above

13. The management of the form of business organization is totalitarian

in nature.
(a) Cooperative (b) Partnership .
(¢) Individual proprietorship (d) - All of the above

14. Under perfect competition, price is determined by the interaction of total demand

and

(a) Totalsupply - ~(b) Total cost

(c) Total utility (d) Total production

15. A dJoint Sock Company is managed by the Board of Directors elected by -

(a) Top management (b) Shareholders

(c) Employees of company (d) None of the above
III. Write short notes on the following: (5 x 2 =10)
16. ;Scope of Managerial Economics.
. 17, Cross Elasticity of Demand.
18. Longrun cost.
19 N.N.P..
20. Explicit cost. |
2 L  20C1402A
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21.

"22.

23.

24.

25.

(a)

(b) -

(a)

(b)

(a)

)

(a)

(b)
(a)

(b)

SECTION — B (50 Marks)

Answer ALL questions. (5 x 10 =50)
Define ‘Managerial Economics’. Outline the basic principles of Managerial
Economics.
Or
Explain in detail about opportunity cost principle and increment cost
principle.

Critically examine theory of demand with its exceptioné,.

Or

What is meant by elasticity of demand? Discuss about income elasticity of
demand with examples.

Describe in detail about law of equi marginal utility.

Or
Elucidate about law of supply and ghift in supply curve.

What do you understand by economies and diseconomies of scale? Explain

with relevant examples.
Or

Define ‘Monopoly’. What are its features?
Explain the methods of calculating National Income in India.

Or

Write briefly about theory of Income and Employment.

\

3 | 20C1402A
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20C1104

(/
B.A./B.Com./B.Sc./B.B.A./B.C.A. (Three Year) DEGREE EXAMINATION,

MAY 2022.
End Semester Examination

First Semester

HINDI PROSE
(w.e.f. 2020-2021)

_/

NG
Time : 3 Hours ~ Max. Marks : 70

PART — A
fafafeg § @ foedl ufg w1 &1 S i (5 x 4=20)
1. Ak o fomm fawg W w oter @1 o foiau
o i R R A7 s e o & s 37 g e o s e
. I R B? _
3. i o qua Re-Re STl 1 S e =
4 v T T o R % 35 IR R
5. ‘gfered” wgrt S feriva €qrsg)
6. I HE AT’ FHIH! T e T 87
7. R’ @1 IiE-faee | e et
8. ‘g’ h IRATHT IR FS IR 4T

PART — B
ﬁm%awwwmﬁml  (5><‘10=50)
9 “fima’ wis % Ay fafay) |
(am)

10. ‘gt diar’ e & g farEul
11. Eﬁwmmé?mwﬁwﬁéaé?

Q)
e ¥ Hee T AT TR e <RIt

Turn Over
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13.

“ITN HE A’ 9IS H AN AT

(=)

14, “qre Fer i Rl i ol gg A g e AR

15.

16.

17.

18.

wﬁmamrﬁé;mm@ﬁim?ﬁq?%f@m

(=)

mmmwm@mm%mmwmn

(a)
(b)
©
(d)
(e)

(@)

b

(©)
(d)
(e)

LA WIS veTdt 3| (fem sEerRt ferfa)
sier AeM & de w1 #) (3o weee )
ofte Tk TR 31 (aeT wewER RaRaw)
391 fspehe Gerdt §1 (aT=a Sewe fafEn|)

# g 7e §1 (3 Ff) -

(3

et o vedt 7 64 3 Rk

Order
Duly .
Chief J pstice
Circular

Forward
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| ~ 20C1103
an

B.A./B.Sc./B.Com. (THREE YEAR) DEGREE EXAMINATION, : w
MAY 2022.
End Semester Examination
First Semester

(Regular/Supplementray)

Part-B :Urdu (Second Language)

U Paper I - URDU POETRY

_
Time 03 Hours |

- - Max. Marks : 70
PART - A

Answer any FIVE of the following questions : (5 x 4 = 20 Marks)

EE40) MV

Turn Over.
\
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' " PART - B

Answ.er ALL the foilowing questions : | : | (5 x 10 = 50 Marks)
Gl Vet Tl U2 G @ 8
-z?c,dc%ﬁw';,uuéK‘Léf”ﬁ&d;gwfﬁ o

2 2001103
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20C1403A

B.B.A. (Three Year) DEGREE EXAMINATION, MARCH/APRIL 2023.
' End Semester Examination
First Semester
QUANTITATIVE METHODS FOR MANAGERS

N~ _
Time : 3 Hours | Max. Marks : 75
SECTION — A

PART —1 A (10 x 1 = 10 Marks)
1. The Scatter in a series of values about the average is called
(a) Central tendency , (b) Dispersion
(q) Skewness 3 (d) Symmétry
2. . ' Mean deviation compacted from aset of data is always
(a) Negative , (b). Equal to standard deviation
(¢) More than standard deviation (d) Less than standard deviation
3. The sum of deviations taken away from the mean is
(a) always equal ‘O’ (b) never equals to ‘0’
(¢) sometimes equal to ‘0’ : (d) none of the above
4, Find the median of the given series
2,8,4,34,3,11 |
(a) 4 - ® 8
) 2 : - d 1
5. If the mean and mode of some data are 4 and 10 respectively, its median will be
(@) 1.5 - () 53
o 16 - @ 6
6 Which of the following statement is true about the arithmetic mean of two

regression coefficients
it is less than correlation coefficient

(a)

(b) itis equal to the correlation coefficient

(c) it is greater than or equal to the correlatmn Coefﬁment
c

(d) it is greater than the correlation coefficient
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10.

T

12.
13.

14.

15.

16.
17.

18.

. : —_‘_______’-—-—f—'.
gion line

Which of the following is true about the regres .
lation ship

(®) line of average ré

(b) a regression line
(¢) a regression lines is also known as the pre

a rogression line is also known as the
is also known as the cmtimaj;ing equation

diction equation

(d) none of the above

If A =1{0,1,24}, B = {1,3,5} then (4 - B)x (A B)
{0, 1), 2, 1), 3, D}

None of the above

S

(@ {0,1),(2 1,4 D) (b)
© {1 D, 21D 4 D) (d)

20 teachers of a school either teach mathematics or physics. 12
mathematics while 4 of them teach both subjects. Then the num

teaching physics only
(1) 16

(¢ 08

Let A =1{1,2,38,4,5,6,7,8,9,10} then the number of subsets A containing exactly

of them teach’
ber of teacher

(b) 12
(d) None of the above

two element is

@) 40

(a) 20
(c) 45 (d) 90
PART — II (5 x 1 = 5 Marks)

If the values of two variables move in the same direction then the correlation is

The mean proportion between 4 and 16 ——
If A is a square matrix s.t. A> = A then (1 - A)’ + A is equal to '

If A and B are two niatrics of order 3 x m and 3 x n respectively and m = n then

the order of matrix (54 — 2B) is

Power set of Empty (or) Null set has exactly subset.

 PART —1III

Answer ALL questions.

(5 x 2 = 10 Marks)

Describe statistical system in India.
Explain Spearman’s Rank Correlation.

‘State the elementary facts of the algebra of sets.
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19.

20.

21.

22.

23.

>ﬂ<p1a1n the operations on matrices with suitable example.

Const .
ruct a 3 x 2 matrix whose elements are given by a; = —12‘\' - 3jl.

SECTION — B
~ Answer ALL following questions (6 x 10 = 50 Marks)
Each question carries 10 marks

(a) Explain the importance of statistics. Explain the methods of collecting

primary data.

Or
() D_ra“,' the histogram and frequency polygon of the following frequency
distribution:
Age group : 1415 16-17 1820 21-24 25-29 30-34 35-39
No. of wage earners . 120 140 150 110 110 100 90
(a) Calculate @, and Py, from the following data :
Age : ~ more than (>) 10 >20 >30 >40 >50 >60 70-80
Frequency : 148 -~ 124 109 71 30 30 01
- Or

Calculate coefficient of variation from the fo]lowmg data and comment
44-46 46-48 48-50 50-52 52- 54 -

24 27 21 5

(b)
Breaking strength :

No. of pieces: 3

(@ A researcher while calculatmg the coefficient between two variables x and y
for 25 pairs of observations obtained the following constants: > x =125,

-y x? =650, Yy =100, Y. y? =460, Xxy=508. It was however later
discovered at the time of checking that he had copied down two pairs as
(6, 14) and (8, 6) while the correct pairs were (8, 12) and (6, 8). Obtain the

co’r'fect value of the correlation coefficient. Also find the probable error.

Or

(b) Calculate thé two regression lines from the following data :
X: 45 55 b6 58 60 65 68 70 Tb

y: 56 50 48 60 62 64 66 70 74

g . Turn Over
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24.

25.

(@)

(b)

(a)

(b)

State DeMorgan’s laws. Given u= {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}
A={2, 4,86, 8,10, 12} and B={3, 6, 9, 12} verify DeMorgan’s laws.

| Or
() In a certain class 12 students study Mathematics (M), 16 St}ldy
Chemistry (C) and 21 study Physics (P). Five study M and C. Eight

study M and P and 12 study P and C. Three study all the three subjeCtS‘;
How many students are there in the class who study either M or P or C!

(i)  Which term of G.P. 5, 10, 20, 40.... is 51207

1 2 3
If A=| 3 -2 1/, show that 4% —234 —407 =0
-4 2 1 ' :
Or
2 1 1
Find the inverse of A =|1 1 1
1 -1 2
A ONMY 4naa
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